(A) Fill in the missing numbers. [12]

70 = x 7

7 = x 7
63 = x 9
49 = x 7
35 = X 5
42 = x 7

Use the 7 times table to answer these word problems.

1 How many days are there in five weeks?

28

84

21

14

56

a4
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- x 4
= x 7
= x 3
= x 7
= x 7
= x 7

2 Atoy car costs £7. How much do four of these toy cars cost?

3 Sam picked 56 strawberries. When he got home he shared them equally
between seven people. How many strawberries did they each get?

4 63 children were going on a school camping trip. They were split equally into seven

tents. How many children were in each tent?

Total marks

16
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